,..-'-"-_"'l\
GLENDINNIN@ Glendinning Products, LLC. conway, SC, UsA

04076-RLR5 Round Hatch/Roller Assembly — up to 3” floor thickness

Install Hatch Assembly as shown below. This kit is for floors up to %” thick.
If floor is thicker then source longer screws as needed.

This kit includes:
99441-2 Round Hatch Assembly — Black - gty (1)
04069 Undercoach Roller Assembly - qty (1)
70575-2 #10 x 1 %4” SMS screw—sghd - qty (3)
70575-1 #10 x %” SD SMS screw- sghd - gty (3)
Template for drilling holes

* REV DESCRIPTION l ECNE APPROVED DATE
p_"fE INTIAL RELEASE 677 | pc | 1m0
5.13
[?30 2] (3) 70575-1 #10 x 3/4" SD SMS SCREW
: HATCH ID HOLE®3.25
] [82.5]

@ 6.00
[152.4]

.o
HATCH ID HOLE®3.25
[82.5]
99441-2 HATCH ASSEMBLY -ROUND/BLACK (3) 70575-2 #10x 1 1/4" SMS SCREW S$
.78
[ [199]
] GLENDINNING
PRODUCTS, LLC
- 740 CENTURY CIRCLE, CONWAY, 5C 29526
PH 843-399-£146 FAX 8423995005
HATCH ASSEMBLY -
ROUND, BLACK, ROLLERS
'| ‘O? DWG NO,
— [27 1] 04076-RLR5
: [ TCALE FEV.
A 1:8 A
04069 UNDERCOACH ROLLER ASSEMBLY T BT NSl BT
PG [z w [ zor

T T T

WI_04076-RLR5 Round Hatch/Roller Assembly Rev 1
Pace 1 of 4



N
GLENDINNIN@ Glendinning Products, LLC.

04076-RLR5 Round Hatch/Roller Assembly — up to 3” floor thickness

Conway, SC, USA

Step 1

- Place Template (see page 3) in location
where hatch is to be mounted and mark
holes.

- Cut 3 %4”to 3 %” diameter hole.

- Drill (3) #10 clearance holes (0.20"dia.)

Step 2

- Place 04069 Roller assembly under coach
- Install (3) #10 x 1 %4” Pan head SMS
through holes in floor into holes in roller
assembly. Tighten.

Step 3

- Place 99442 Hatch onto hole. Rotate
hatch till slots are line up around screw
heads. (as shown)

- Install (3) #10 x %” Pan head Self tapping
screws through hatch into floor and
tighten.

WI_04076-RLR5 Round Hatch/Roller Assembly Rev 1

:

Page 2 of 4



GLENDINNIN@ Glendinning Products, LLC. conway, SC, USA

04076-RLR5 Round Hatch/Roller Assembly — up to 3” floor thickness

®»3.50"to 3.75"
diameter hole

.20 hole
3 places

WI_04076-RLR5 Round Hatch/Roller Assembly Rev 1
Page 3 0of 4



_,--—_‘-h\\
GLENDINNI’N@

WI_04076-RLR5
REVISION TRACKING

REVISIONS

EcN

CHANGES

By

DATE

1

6877

Initial Release

2/4/20

WI_04076-RLR5 Round Hatch/Roller Assembly Rev 1

Page 4 of 4



	ARow1: 
	6877Row1: 
	Initial ReleaseRow1: 
	IWRow1: 
	2420Row1: 
	ARow2: 
	6877Row2: 
	Initial ReleaseRow2: 
	IWRow2: 
	2420Row2: 
	ARow3: 
	6877Row3: 
	Initial ReleaseRow3: 
	IWRow3: 
	2420Row3: 
	Text2: Page 1 of 4
	Text1: WI_04076-RLR5 Round Hatch/Roller Assembly_Rev 1
	Text3: Page 2 of 4
	Text4: Page 3 of 4
	Text5: Page 4 of 4


